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𝐻2𝑂

(109)

𝐻2𝑂 𝐻: 𝑂𝐻;

𝐻2𝑂(𝑙) + 𝐻2𝑂(𝑙) ⇌ 𝐻3𝑂  (𝑎𝑞)
: + 𝑂𝐻   (𝑎𝑞)

;

𝐻2𝑂(𝑙) ⇌ 𝐻  (𝑎𝑞)
: + 𝑂𝐻   (𝑎𝑞)

;

𝐾𝑐 =
𝐻: ∙ [𝑂𝐻;]

 𝐻2𝑂



𝐻2𝑂

 𝐾𝑐

𝐾𝑐 =
𝐻+ ∙[𝑂𝐻−]

 𝐻2𝑂
∴  𝐾𝑐 ∙  [𝐻2𝑂] =  𝐻: ∙ [𝑂𝐻;]  ∴  𝐾𝑤 =  𝐻: ∙ [𝑂𝐻;]

𝐾𝑤

𝐾𝑤 1 ∙  10;14

𝐾𝑤

𝐾𝑤

𝐾𝑤 =  𝐻: ∙ [𝑂𝐻;] 1 ∙  10;14



𝐾𝑤 =  𝐻: ∙ [𝑂𝐻;]

log 𝐾𝑤 = log 𝐻: + log[𝑂𝐻;]

log 𝐾𝑤 = (−log 𝐻: ) + (−log[𝑂𝐻;])

𝐾𝑤  1 ∙  10;14

log 10;14 = −(log 𝐻: + log[𝑂𝐻;])

14 = −log 𝐻: + (−log[𝑂𝐻;])

14 =     𝑝𝐻     +         𝑝𝑂𝐻

𝐾𝑤 =  𝐻: ∙ [𝑂𝐻;] 1 ∙  10;14

𝑝𝐻 + 𝑝𝑂𝐻 = 14

𝐻(𝑎𝑞)
:  𝑂𝐻(𝑎𝑞)

;

𝐻(𝑎𝑞)
:   𝑂𝐻(𝑎𝑞)

;

[𝐻:] =  [𝑂𝐻;]

[𝐻:] = 1 ∙  10;7 𝑚𝑜𝑙/𝐿 ∴ 𝑝𝐻 = 7

[𝑂𝐻;] = 1 ∙  10;7 𝑚𝑜𝑙/𝐿 ∴ 𝑝𝑂𝐻 = 7



𝐻(𝑎𝑞)
:  𝑂𝐻(𝑎𝑞)

;

1 ∙  10;14

𝐻:

𝐻2𝑂(𝑙)  
𝑅𝑒𝑎çã𝑜   𝑑𝑖𝑟𝑒𝑡𝑎

𝐻  (𝑎𝑞)
: + 𝑂𝐻   (𝑎𝑞)

;

𝑅𝑒𝑎çã𝑜 𝑖𝑛𝑣𝑒𝑟𝑠𝑎

𝑂𝐻;

𝐾𝑤 1 ∙  10;14

𝐻: 𝑂𝐻;

[𝐻:] > [𝑂𝐻;]

[𝐻:] > 1 ∙  10;7 𝑚𝑜𝑙/𝐿 ∴ 𝑝𝐻 < 7

[𝑂𝐻;] < 1 ∙  10;7 𝑚𝑜𝑙/𝐿 ∴ 𝑝𝑂𝐻 > 7



Ex.: 
[𝐻:] = 1 ∙ 10;6𝑚𝑜𝑙/𝐿 ∴ [𝑂𝐻;] = 1 ∙ 10;8𝑚𝑜𝑙/𝐿

[𝐻:] = 1 ∙ 10;3𝑚𝑜𝑙/𝐿 ∴ [𝑂𝐻;] = 1 ∙ 10;11𝑚𝑜𝑙/𝐿

𝑂𝐻;

𝐻2𝑂(𝑙)  
𝑅𝑒𝑎çã𝑜   𝑑𝑖𝑟𝑒𝑡𝑎

𝐻  (𝑎𝑞)
: + 𝑂𝐻   (𝑎𝑞)

;

𝑅𝑒𝑎çã𝑜 𝑖𝑛𝑣𝑒𝑟𝑠𝑎

𝑂𝐻;

𝐻:

[𝐻:] < [𝑂𝐻;]

[𝐻:] < 1 ∙  10;7 𝑚𝑜𝑙/𝐿 ∴ 𝑝𝐻 > 7

[𝑂𝐻;] > 1 ∙  10;7 𝑚𝑜𝑙/𝐿 ∴ 𝑝𝑂𝐻 < 7

Ex.: 
[𝑂𝐻;] = 1 ∙ 10;1𝑚𝑜𝑙/𝐿 ∴ [𝐻:] = 1 ∙ 10;13𝑚𝑜𝑙/𝐿

[𝑂𝐻;] = 1 ∙ 10;4𝑚𝑜𝑙/𝐿 ∴ [𝐻:] = 1 ∙ 10;10𝑚𝑜𝑙/𝐿



Equilíbrio Iônico dos ácidos e bases fracos 

𝐻: ∙  [𝑂𝐻;]

 𝐻: 𝑝𝐻  𝑝𝑂𝐻

 𝐻: 𝑝𝐻 𝑝𝑂𝐻

α



α

• α

• α

• α

𝐻2𝑆 𝑎𝑞  ⇌  2𝐻3𝑂 𝑎𝑞
: + 𝑆(𝑎𝑞)

2;

𝑁𝐻4𝑂𝐻(𝑎𝑞)  ⇌  𝑁𝐻4  (𝑎𝑞)
  : +  𝑂𝐻(𝑎𝑞)

;

𝐻2𝑂



Constante de ionização ácida e constante de 
dissociação básica 

 [𝐻2𝑂]

𝐻𝑥𝐴(𝑎𝑞) +  𝑥𝐻2𝑂(𝑙)  ⇌  𝑥𝐻2𝑂  (𝑎𝑞)
: +  𝐴   (𝑎𝑞)

𝑥;

𝐻𝑥𝐴(𝑎𝑞) ⇌  𝐻  (𝑎𝑞)
: +  𝐴   (𝑎𝑞)

𝑥;

𝐾𝑐 =
[𝐻3𝑂:]𝑥 ∙ [𝐴𝑥;]

 𝐻𝑥𝐴
𝐾𝑐 =

[𝐻:]𝑥 ∙ [𝐴𝑥;]

 𝐻𝑥𝐴

𝐾𝑎

𝐾𝑎 =  
[𝐻3𝑂:]𝑥  ∙  [𝐴𝑥;]

𝐻𝑥𝐴
𝐾𝑎 =

[𝐻:]𝑥 ∙ [𝐴𝑥;]

 𝐻𝑥𝐴



Ex.: 
𝐻𝐶𝑁(𝑎𝑞)  ⇌  𝐻 𝑎𝑞

: +  𝐶𝑁(𝑎𝑞)
;

𝐻2𝑆(𝑎𝑞)  ⇌  2𝐻  𝑎𝑞
: +  𝑆  (𝑎𝑞)

2;

𝐾𝑎 =
[𝐻:] ∙ [𝐶𝑁;]

 𝐻𝐶𝑁

𝐾𝑎 =
[𝐻:]2 ∙ [𝑆2;]

 𝐻2𝑆

 (𝐾𝑎)

[𝐻:] 



(𝐻2𝑆𝑂3)Ex.: 

𝐻2𝑆𝑂3(𝑎𝑞)  ⇌  𝐻 (𝑎𝑞)
: + 𝐻𝑆𝑂3   (𝑎𝑞)

;       𝐾𝑎1 = 1 ∙  10;2

𝐻𝑆𝑂3   (𝑎𝑞)
; ⇌  𝐻 (𝑎𝑞)

: +  𝑆𝑂3   (𝑎𝑞)
2;       𝐾𝑎2 = 6,4 ∙  10;8

𝐻2𝑆𝑂3 𝐻𝑆𝑂3
; 𝐾𝑎2

𝐾𝑎1

𝐾𝑎



𝑝𝐾𝑎 = − log 𝐾𝑎

𝑝𝐾𝑎

𝐶(𝑂𝐻)𝑥(𝑠) + 𝑥 𝐻2𝑂(𝑙)  ⇌  𝐶  (𝑎𝑞)
𝑥: + 𝑥 𝑂𝐻   (𝑎𝑞)

;  

𝐶(𝑂𝐻)𝑥(𝑠)  ⇌  𝐶  (𝑎𝑞)
𝑥: + 𝑥 𝑂𝐻   (𝑎𝑞)

;  

𝐾𝑐 =
[𝐶𝑥:] ∙ [𝑂𝐻;]𝑥

 𝐶(𝑂𝐻)𝑥



𝑂𝐻;

𝐾𝑏

𝑲𝒃

(𝐾𝑏)

[𝑂𝐻;]

(𝐾𝑎) (𝐾𝑏)

𝐾𝑖 

𝑁𝐻3(𝑎𝑞) + 𝐻2𝑂(𝑙)  ⇌  𝑁𝐻4  (𝑎𝑞)
: + 𝑂𝐻   (𝑎𝑞)

;  𝐾𝑏 =
[𝑁𝐻4

:] ∙ [𝑂𝐻;]

 𝑁𝐻3


